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// Quiz 11 code

B )
#define Q SIZE (8) /(’_ )
typedef struct { \/
unsigned char Datal[Q SIZE];
unsigned int Head; // points to oldest data element

unsigned int Tail; // points to next free space
unsigned int Size; // guantity of elements in queue 0

C T tx g, rx _g; 2 ::-___—-_ 30[
void Q Init(Q T * q) _ = .
unsigned int i; a
for (i=0; i<Q SIZE; i++) g
g->Datal[i] = 0; // to simplify our lives when debugging s mﬂ
g->Head = 0; é | r
g->Tail = 0; 0
g->Size = 0; ?

: ) |
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int Q Full(Q T * q) f{ S\2e P’/}/Zg

return g->8ize == Q SIZE; ‘%
) -

//_Q Enqueue - Called by a UART ISR - put a char on the gueue

_Enqueue(Q_T * g, unsigned char d) ({ ﬂ_ * \

if (!Q_Full(q)) { // What if gqueue is full? i
q->Data[q->Tail++] = d; Q—— *4(2’
g->Tail $= Q SIZE; ° 16 'bo
g->8Size++; ooy @_— 'E\ #‘4\
return 1; // success _]/s Q F

} else W
return 0; // failure Ly

// Q Dequeue-called by a consumer function-take a char fr eue 77
@nsigned CharyQ Dequeue(Q T * q) { \ZQ_ N(*
unsigned char t=0;
if (!Q Empty(q)) { // Must check to see if queue is emptyc@
t = g->Data[g—>Head]; \ —94
g-»>Data[g->Head++] = 0; // to simplify debugging, clear SV‘ \‘,
\

g->Head %= Q SIZE;

g->8ize——; “
: \9* A2

return t;



